MATH 54 SPRING 2019: DISCUSSION 109/112 QUIZ#5
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Problem 1. Define T : P3 — R* given by T'(p(z)) = ng(l
p(3)
{e1,e2,e3,e4} be bases for P3 and R* (respectively). Find the matrix of transformation g[T]p.
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. Let B = {1,z,2%,23} and E =

Problem 2. True/false: if true, give a justification; if false, give a counterexample.

(1) If A is diagonalizable n x n matrix, then A has n distinct eigenvalues.
(2) If A is invertible, then A is diagonalizable.
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(b) False - let A= [&:‘z A is uthl. (det A= 4 #o)

But  Char Po(. A s (::_-/\)j" so that A\=2
s +the °”l}' eiﬂeMVal- Bt dimnyl (A‘21)=l/ o that
there is O‘W ohe eigeyvec. of A (Uf{o Scal7nj).

“ A mt d iaﬂb nelizable.



